@ (-a?)? x (2b)® = —4a*b?
@ (=xy)* x 2xy = 2x%y?

® a®x (-2b)?* x a® = 4a°b?

@ (=3y)% x (—xy)?

)

2a
b

)

—3x3y5
34
B






3.

2 1 _
gx‘l X gx?’y - gxy% A AtopH?

5 2 2
— @ = ® Zx
y y 3

X

=

@

]



® 3xy3




5. 3 +3°+3° &3 AFAELE hds| YERlH?

O 33 @ 36 ® 37 @ 312 ® 315



6. 3 +3°+3 =39 AEATeR TS| yeEryHE?

O 33 @ 36 ® 37 @ 312 ® 315



—_
fife)

j—

ife)

N
o

{(_x2y)3}2

@ x6y3 @ X7y5 @ X8y6 @ x12y6

@ x4y



olJ
e
olJ
o8

olig
Nfo

ojn

<t
a3
= —
I I
~ <
~
2 38
3 I
S~— S~—
Q0 @

/N
< [ 73
NI RIS
< N—
N] |
[
R 7n.4b272
2a N] ]S
S
©@ © ©



olJ
RS
%
o8

olig
Nfo

op

@ (ab)? x ab = a3b?




)
32 x
33_
=36

@
43 x
42
=45



11. 184%h3 = 3a2b x 2b = 7YA5] 5FA?

® 3ab @ 6ab? ® 12ab®> @ 3ab? ® 12ab®



12, thg Aol [ <tol gge 429
[ ]+ (~6a2p?) x (2ab®)? = ~12a°b5

@ -3a%b @ -3ab ® 9a*b?

@ -9a*b? ® 6a*b?



AL RE 1239

=

2
6

oo
Mo

=
K

D 2x4x8=2°

@ 3 +32+3=3°

® (23 =23

@ 122 =2x3

© (-2)7=(-2)*+ (-2)* =22



14. 371 = x 9 o, 272 X TE A0 Lk 229

1 1
O 3x3 @ 9x3 @ 27x3 @ §X3 ® ?X3



!

£5t= x 9] 32 otH?

)
®-;  @-

® -1






17. the % A4 A3} ol Yt o s

@ (2°)2 + 22 @ (22)% x 22
B 24 x 924 @ 8248248248

@ 42(22+22)



18.

(—ab*)® + ab® = —-@’b" 4 W], x—y & 327

@1 @ 2 ® 3 @ 4



19. 3xty = (=3x%3) x 2x%y* & 745] 5pA?

O —2x%y? @ -— ® 2x%y?

@ —18x*y!? ® 9xy?



20. a=2719 0], 4212 g0 T 402 L7

@ 8a @ 24 B 4a? @ 2a* ® 4a*



ol

o|J
o8

ol
Nfo

ojn

21.




22. 3 +3° +3° & 39 7NEAEL R S| UERH?

© 33 @ 36 ® 37 @ 312 ® 315



L

= A& Aol
=1 x| |=
ab?® % a’b




=

oo

2o 7

%

rlo

=
K

o

RS

fik

afat,

@ 3&2 X 2&3 = 6a6

© (404)2 = 1648

® (-2a)° = -324°

@ 12616 - 4612 = 3a3

® (2 -%

B
:







@ -10x8



27. 545 =2"x 3 A o, x—y 9 S Aotofet

D R
3%



28. a=22 9 1, §* & g o B 402 thehfolal,
e



® a*b2 @ 9a%°b> O 9a*b?



30. a=3"'d W, 9" & aFE AESHO] LERHT?

a2 a3

n @ — ®

=~

a5

9

a

6
a
@ 5 @ 0]

®



3x
y
xy) = 3x3y

e
9

By +

1
3
© o

@

2 . 2 _ 1
@ (x )37(—2)(' )3 ——6

D 6a® = 2ab

© (=) + (207) = —7



3.0 &
32. 32&81W Hoto] 2 e 39 AGAFoR YeRH A2

3
O 32 +81 @ 3x81 ® 37

@ (33)2 @ (33)25



1 2x-4
= (2
2




34. —x%*y+ {(—xy)3 =+ 3x3y2} 2 71+5] shojet

1 1
b _ 2
3x2 @ 3xiyt @ 3

@ -3x° ® 3x3y?




35.

e 5 A

[¢]

o [e]
B A2

@ at+a*=0

@ atdd—a
1
3 o =db —

a3

@ axaxaxa:a4
® atatata=da



36. —2x%y3 + X%y x (—2xy)? = AxByC A W A+ B+ C 9] F& otH?

@o @ 2 ® 4 @ 8 ® 16



i
il

KA
o]

ol

4ol

o
Hhu

Hip

Tt (-ab)? x a® + a®b &

2

Al

37.

ol
w
m
=

(-ab)? x a® + a®b = a*b* x a® + a®b

ng

(-ab)? x a® + a®b = a*b* x a® x

1
a3h

a*b?
a3b
ab

|

(-ab)? x a® + a®b = a’b* x a® + a®b

— g2+2-3p2-1
ab

s

ok



